Year

4 English Comprehension Answers:

Engli

sh Comprehension: Three Times the Pain

Purpose: Newspaper article

Understanding the text

1.
2.
3.
4.

Look

David Franks wrote the article.

The article is about triathlons.

There are three different sports involved — swimming/cycling/running.
The triathlons became an Olympic sport in 2000.

ing at language

5a
Sb

. The meaning of gruelling: involving a lot of continuous effort.
. The meaning of stamina: ability to work hard over a long period of time without getting

tired.

5¢
5d
5e
5f.
6a
6b
6cC

. The meaning of vigorous: energetic.

. The meaning of determination: not letting anything stop you from what you want to do.
. The meaning of velodrome: special building with a track for cycle racing.
The meaning of disciplines: type of sport.
. The meaning of the phrase soaring temperatures means temperatures that get very hot
. The meaning of the phrase purpose-built means built with a specific use in mind.

. The meaning of the phrase get into means becoming involved with.

Exploring the article

7.

10.

11.

12.

Accept answers that suggest that training for and competing in sport can be physically
painful.

The total distance an athlete covers in a triathlon is 51.5 kilometres.
Adult to mark personal answers. Making sure children use P.E.E. to answer the text.

Point — make your point
Explain — explain what you mean
Evidence — use evidence from the text to support your answer

Accept answers that suggest readers would be interested in what an actual triathlete said
about the sport.

Paragraph 1: swimming/cycling/running are demanding sport.
Paragraph 2: asks reader to imagine doing all three.
Paragraph 3: the swim.
Paragraph 4: the cycle.
Paragraph 5: the run.
Paragraph 6: quotes from Luke Read who is a triathlete.

Accept individual answers that may suggest:
e The athlete who is very good at all three disciplines.
The athlete who is strong in two and reasonable in another.
The athlete who can swim the fastest and so leave all the others behind
The athletic that can run the fastest and make up time lost.



Taking it further

13. Adult to mark personal answers. Making sure children use P.E.E. to answer the text.

e Point — make your point
e Explain — explain what you mean
e Evidence — use evidence from the text to support your answer



Year 4 Enqglish Comprehension: Webbo

Story extract

Understanding the text

1. The main characters are Davy and Webbo.
2. Davy is narrating the story.

3. Webbo does not like the narrator because he dropped the ball and lost the rounders
match.

Webbo does not like the narrator because he does not come from Liverpool.
4. The narrator didn’t catch the ball because he closed his eyes.
5. The catch was so important because he would have won the match for Webbo’s team.

Looking at language

6a. The meaning of vital: the most important.

6b. The meaning of triumph: victory.

6c. The meaning of scuppered: ruined.

6d. The meaning of grimaced: pulled a face.

6e. The meaning of demanded: insisted/asked firmly.

6f. The meaning of permission: being allowed to do something.

7a. The meaning of the phrase easier said than done it is often harder to do something than to
talk about doing something.

7b. The meaning of the phrase something in common is having similarities.

Exploring the characters

8. Accept answers based on evidence:

Craig: ‘grimaced sympathetically’ / gives advice to Davy, ‘try to keep out of Webbo’s way’.
Carl: stopped Davy from walking away from Webbo.

9. Accept any two answers from: yelling/bawled/hissed/shouted/explained.

10. These synonyms tell us that Webbo is an aggressive, nasty character,

11. Accept answers that suggest the reader can understand why Webbo may be cross with
Davy for dropping the ball, but he is wrong to dislike Davy just because he does not come
from Liverpool.

12. Accept answers that suggest he is afraid of Webbo and nervous about what Webbo may
do.

13. Craig advises Davy to keep out of Webbo’s way. Adult to mark personal answers.
Making sure children use P.E.E. to answer the text.

o Point — make your point
o Explain — explain what you mean
o Evidence — use evidence from the text to support your answer

Taking it further

14. Adult to mark personal answers. Making sure children use P.E.E. to answer the text.

o Point — make your point
o Explain — explain what you mean
o Evidence — use evidence from the text to support your answer



English - Speech answers:

Developing
1. 7
1} v v ¥ v
Lane, who liked fo gossip, whispered, “I heard that the cake Sookie moade was really
v
N
tasty.”
2_True

3. Dean is comect. ‘Congratulafions’ is direct speech becouse inverled commas are
needed and the reporting verd ‘lold’ has been used lo show indirect speech,

4

v

‘ . . .
Jason hated football and he made himself very clear. “1 hate football! | never want to
v

) +
play it again!” he screamed of his mother.
5. False. B is neither direct speech nor indirec! speech.
6. Rory is not comect. He has undedined two pieces of direct speech. The indirect speech
that ‘luke muttered that he wanted fo finish it today’ should have been underiined.

Gregter Depth
& v v
. v v ]
Logan called out to Tristan fo pass him the ball. “Logan, watch ou™ yelled Tristan, as a
v v

+ ¥
menbetofﬂteoppisiieteancamhu*ﬁ‘ngimdslﬁn “He's behind you!”
8. True (A. Implied speech; B. Direct speech: C. Indirect speech)
9. Frank is comrect. The indirect speech is implied through the linking word, and the direct
speech is marked with inverted commas.



Maths Answers:

White Rose Multiplication and Division Activity answers:

Year Y

Multiplication and Division

Name

o Georgia and Dan each have some counters.

0000000000 00000
0000000000 00000
0000000000 00000

| Georgia's Counters ] [[}m's Counters ]

Write down a multiplication to werk out how

many counters Georgia has. orl0 X 3=30
3 X o | =1 30

Write down a multiplication to werk out how

many counters Dan has. or5X3=105
31X 5| =165

How many counters do they have altogether?

45 courters

o Work out the following multiplications.
3 xB= 288

25 x 7= 1905

© T has £2000
She buys 6 new paintings.
Each painting costs £259
How much meney dees she have left?

| mark for & paintings costing €1,554

£ 446

O Work out 5 x 797 x 2=_7970

Show or explain your method.
Eg Idid5 X 2 first which is 10, the

multiplied 797 by 10

‘White

| mark

| Friark

o Arir is working out 37 X Y
He uses place value counters to help him

0000000000
0000000000
0000000000
0000000000

Work out 37 X 4
Show all your working.

M8

How many pens in total?

269 pens

o Complete the missing numbers.

9 4 L E i | mark if |
» : Y : error has
: 2 : | 6 : B bE‘Eﬂ mCIdE.

|

o A emall bag of sweets containg IS sweets.
A large bag of sweets contains 7 times as
many as the small bag.

Max buys B bags of each
How many sweets does he buy in total?

| mark for working out that there are 105

sweets in a large bag

960 sweets

Circle how confident you feel with multiplication.

I 2 3 4 5

Mat Very
confidert



White Rose Week 3 Lesson 1 ‘Multiply 2-digit number by 1 digit number’ answers:

Multiply 2-digits by 1-digit

o Brett uses a place value chart to work out 5 x 32

e 00,

@ o

Talk obout Brett’s method with o portner.
Complete the multiplication.

Use Brett's method to work out 6 = 34

G:E!-:

Use Dani's method to work out 3 = 27

1 |

o Use a written method to complete the multiplications.

ﬂ]ﬂ!xﬁ: d-ﬁug:

b]?lel: tﬂ52a:5=

o- Rosie works out 4 = 37 using a written method.

HIT

4)
4)

o |9
=

£

®
@O e~

Talk gbout Rosie’s method with a partner. @
Use Rosie’s method to wark out & x 28 .

(g6)
(2b Y | b F

=
{)Q,OQQ[T"OU

o Dani uses a different written method to work out 8 x 42

F-3
o (on | kD

3|3

Talk obout Dani's method with a partner.

& Whits Acss Meth 2019

vl-]?.ﬂxll: ﬂ1?xl=

o Class 4 is selling tidets for a plag.
Tickets cost £5 per person.
56 tickets have been sold so far.
How much meney has Class 4 collected?

£180

o Rosie buys 8 bunches of flowers. Each bunch has 17 flowers.
How many flowers does she hove oltogether?

White

® Whits Aoss Weths 1019 !..‘;?



White Rose Week 3 Lesson 2 ‘Multiply 3-digit number by 1 digit number’ answers:

&)

Multiply 3-digits by 1-digit

o Filip uses a ploce value chart to help him multiply
a 3-digit number by a 1-digit number.

Hundlreds. Tens
o) 8]6]
@ Q0
) Q0

a) What multiplication is Filip working out?

]

b) What is the answer to Filip's multiplication? 339

o Use place value counters to complete the multiplications. .g,

n]!xll]: d}smns:
I:Juzts: a}anﬂE:
.-.]5:.:105: ﬂ31?xa=

e) 3 x 240 fi 7x131
HI|T|G HITI|6
A |0 1131
Al |3 A E
7120 Qi
| L

o A lorry driver travels 156 km per day.
How many kilometres will the lorry driver have travelled

after 3 days?
L Fler~
o Ron ond Teddy are working out 5 x 245 @
I know the answer
will be greater than
1,000 because I know
@'@ 5% 200 is 1,000
[ Ron )
I know the answer :
should end in 5 because I (@
know 5% 5is 25 GE s
E—
Teddy |

a) Who is correct? Circle your answer.

Ron Teddy neither

o Complete the muktiplication.
Use the ploce value chort to help you.

H T
o0 |0 000 HiTjo
oo 2115
o0 |O 00| - 2
00 a0k
|
o0 |O 000
0
o Complete the multiplications.
a) qd
H T o H T O
2 7 o 8
*® 4 *® [
HAAE AN
1 iy
b) dl 163 x5
H|T O B|ITIO
a ] K
E 2 >, =
8|78 IS
T 3 ]
® Whis Acas Weths 1019
b} Use a written method to wark out 5 x 245
225
o There are 7 year groups in a school.
There are 112 children in each year group.
How many children are there in the whole school?
T3l

o A bonana weighs 140 g
A pineapple weighs 345 g
140 g 345 g
Bag A contains 8 banonos and bog B contains 3 pineapples.

Which bog weighs more and by how much?
Show your working.

Bag A weighagmore than hug_ﬁ_

8 Whits Ress Metha 1013




Problem One Answers

Card tricks

Cheoa's conds are of| ST erent.
Thatr i 6 number from [ Ta & on each sard

)

Ty Chice hat choten four cardi that add up ta 50
What are thay?
Thare are Seven Gif ferent pesebibties.
Ty ta T themall

‘Wiat if Checa ked Theee dardhl That add up 1a [&2

Card tricks

Systematic working helps to make sure that all possibilities have been
considered.

Four different cards with a total of 20 are:

i

O O =]

7. B 3,458
&, 8 3,467

F r

-

[ | [ N L]

=

P r

=] 0o 0o

Three different cards with a total of 16 are:

1,7.8 2,6,8 3,6, 8 4,67
3,6,7

@ r

You could try other totals.
For example, four cards with a total of 18 are:

2,3,6,7 3,4,5 6
2,4,57

L r r

=
-

£ B W R
o | o~
~® o m

-

P b b

Explore the different totals that can be made with four cards. (It is
possible to make any total from 10 to 26).



Problem Two Answers

& Fhe dodp b bl S i o ol Vet Pt Sl ]
& Tha daddend foli Rl iid b £ Jieh Ml Tha Thardl
# The fpe= pda had fercs ot mory cora a8 Hhe

A e

Horm marmy qgobd coowi ded Edmarride gt o cach ple?

Queen Esmeralda's coins

There were 7, 3, 4 and 6 coins in each pile.

The problem can be solved by trial and error.



